N =

2 & M

A

fA: QHHME2ZE
HH: ZZYHLANE HAN FisH(EstH 22/ 2
&2l CIEHE NTH & 223 (chel &)
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
CUME22S 674,132 822,486 A 148,354
SRYOYHE HAE ZAS (2L 2Z/2) 287,900 503,930 A216,030
OUME NAXY o 2YNES 287,900 503,930 216,030
CIARE HMAHE EEp2 35,900 269,930 A234,030
201 L2 32,970 17,000 15,970
01 ArR 22l 32,970 17,000 15,970
OLIYHMEN=ZAZS 23 12,670
O22I0t CIXHE EWOIX 2 20,300
202 04l 2,930 2,930 0
01 ZLH0IHI 2,930 2,930 0
OLAYNE MHHQ BE2te| AT At 2,930
CIAUHE EH=5 L HAANLSY 205,000 0 205,000
307 212t01& 205,000 0 205,000
02 UAHATZT 150,000 0 150,000
O%= CIUHE EatZd 29 150,000
04 QIHHAIE X 55,000 0 55,000
OCLIAUME Tata Al 55,000
CHME NS &86 2245 WL 17,000 82,000 65,000
201 ety 15,000 0 15,000
01 AtR22lH 15,000 0 15,000
OLIYNE 2ZEEIIEE HH 15,000
202 ol 2,000 2,000 0
01 ZLHOIHI 2,000 2,000 0
OLIYNE XN2s 288 2243 MY 2,000
2249 03IY S2ES ®Y 30,000 152,000 A 122,000
201 Lt 28,000 0 28,000
01 AtE22|Hl 20,000 0 20,000
OZ2E CUHE S22 M 20,000
03 A2 8,000 0 8,000
OLYNE 2Z2XE =T R 8,000
202 ot 2,000 2,000 0
01 ZLHOIHI 2,000 2,000 0
O=2=zE 0E E28s &N 2,000
HYSAFHI(CIAREZZH)(JIEHIIE 386,232 318,556 67,676
olgi 2Ky 376,662 305,486 71,176
IR A X 376,662 305,486 71,176
101 Q244 354,122 277,586 76,536




SN OAUHERZE
HE: BHSIAY (CYHERZE)(OIEHIIE)
& QI 2A| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
01 B+ 267,577 277,586 A 10,009
oJl=s 172,436
O2s 159,171
55 2,812,000 x2H 128 67,488
-65 2,252,000 x2H 128 54,048
7= 1,862, 7003 x1E«12& 22,353
-8 1,273,5003 x1E 123 15,282
Odz2=¢ 159,171,000 *1/12 13,265
O=g 28,990
Oz 5,280
-t = At 40,0003 x6H «12& 2,880
-S2LIE 20,0003 10€ ~12& 2,400
OXtHstH 8x4 2,093
-8 51,990%2H *43] 416
-NSEH 419,090+ 1H *43] 1,677
O&F2=2I13 5,420
-25E 01 &f 130,000 x1H « 122 260
-20E~25E 0| et 110,000& »2H 12 2,640
-154~20E& 0| 8¢ 80,0003 x2E 12& 1,920
-5E~104 0/ et 50,000 x1H*12& 600
OUeERA+E 4,190,700 *4.8%+ 12 2,414
SR 360
Jlsgf=¢ 30,0003 x1E«12& 360
OANZtZRE  7,4573+25A 2t+6H +12& 13,423
(OFSRLE= R 130,000 x6H 123 9,360
Ouns=2 Xl 9,480
O4~53 140,000& »2H « 123 3,360
o6~728 130,000& 3 122 4,680
O8= 120,000 x1H « 128 1,440
OZE St 159,171,000& *1/12%120% 15,918
OJHAIXI & bl 159, 171,000% »1/12%200% 26,529
O ILE &I 159,171,000 *1/12%1/30% 11 4,864
JIEHR 2 == 86,545 0 86,545
oJ12a 74,043
OXNHAA 45 74,043,000& x1H 74,043
OJtE=¢ 40,0002 x1H« 128 480
OF M GAHI 130,000& x1E 123 1,560
OXMg AR A A 350,000& x1H~12& 4,200
(OFSF= ] 400,000& x1E«12& 4,800
O ItE &I
68,347,000 *1/12x70%*1/30% 11 1,462
203 HRF&Hl 6,280 6,240 40




SH: CUNEZS
Ha: HNSAAY (CIUNEZE)OIEH/IIE)
chel: ol 2| (e @
_ _ pSNE e
SAN-ZH-SA(FA) - NFAY - BES Off &F oK bﬂngﬁ HwsZ
01 JBSYHREAY| 3,000 3,000 0
CEE 3,000
02 HRANMAREAY] 280 240 40
©100 DX 40,0008 %7% 280
04 SASYHREAY] 3,000 3,000 0
©1521015} 250,002 *122 3,000
204 MLABAY| 16,260 21,660 A5,400
EETES 2,660 14,460 A1,800
052 250,000 *28 122 6,000
062 155,00021 x2 * 122 3,720
o7a 140,00021 12 * 122 1,680
082 105,0002 12 * 122 1,260
03 SR+ S| 3,600 3,000 600
oueI S| 50,0002 6% + 122 3,600
CEE] 9,570 13,070 3,500
S IBIEET 9,570 13,070 A3,500
201 Yer2g| 5,670 5,670 0
01 AtR2elt] 5,670 5,670 0
oMY AR 5,670
202 01t 2,400 2,400 0
01 =UH0i | 2,400 2,400 0
ORNSY =LHoil 2,400
405 XtoarE S| 1,500 5,000 A3,500
01 Xt SEF S| 1,500 5,000 3,500
© TV(1th) 1,000
O A (10H) 500




